SECOND YEAR HIGHER SECONDARY EXAMINATION

PART-III
ECONOMICS Time:2 1/2 Hours
Maximum:80 Scores Cool-off time:15Minutes

Answer any 10 questions from 1 to 12 Each question carries one score {10x1=10}

1. Which of the following cost will be zero when production is stopped

(a).Average Fixed Cost (b)Total Cost

(c)Fixed cost (d) Variable Cost

2. Situation Where Market Demand =Market Supply

(a)Excess Supply (b) Excess Demand
© Equilibrium (d) Deficient Supply
3. All the following curves are ‘U’ Shaped Except ,

(2JAVC (b) AFC

(c)AC (d) MC

4. If the Quantity Demanded of good X increases with a rise in the price of good Y, these
goods are

(a)Complimentary (b) Inferior
(c)Substitute (d) Normal

5. When Price rises and expenditure remains the same ,elasticity is,

(@) Unitary (b) More than one

(c) Less than One (d) Zero

6.”General Theory Of Employment Interest and Money” was Written by
(@).J M Keynes (b) Adam Smith

(c) Marshall (d) Samuelson

7. Minimum price fixed for a product by the government is called
(a) Equilibrium Price (b) Price Ceiling

(c)Floor price (d) None of the above
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8. Which is known as ‘Bankers Bank’

(a)Reserve Bank (b) canara Bank

(C)NABARD (d) Gramin Bank

9. MPC=0.8, Then MPS is

(@)1 (b) 2

(c) 0.2 (d) 8

10. If the real exchange rate is —— ,the currencies are at purchasing power parity
(a) Equal to one (b) Less than one

(c) More than one (d) None of the above

11. If import is higher than export it is

(a)Trade Surplus (b)Trade Deficit

(c)Trade Balance (d)None of the above

12.1f the value of domestic currency increases due to market forces,it is called
(a)Appreciation (b)Depreciation

(c) Devaluation (d)Revaluation

Answer any five Questions from 13 to 18 .Each carries two score

13.Classify the following into Micro Economics and Macro Economics

[GDP, International Trade, Income of Ramu, Price of the Gold]

14.Write Suitable Economic Terms:
(a)Group of Indifference Curve

(b)Ability of commodities to satisfy wants

15.What is Meant by Paradox of Thrift
16.Explain Shutdown point.
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17.Complete the table

Output | TR AR MR

0 0
10
20
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50

OB WNF-

18. Define GDP Deflator, Calculate GDP Deflator from the following data.

Nominal GDP of a country in 2017 was Rs.50000/-.Real GDP of the same country in 2017
based on 2014 base year price was Rs.40000/-

Answer any 6 Questions from 19 to 25.Each carries 3 scores {6x3=18}

19. Write a note on the Basic Problems of an Economy
20. Explain any three functions of money

21. Complete the following

M1= +
M2= M1 +
M3= M1 +
22,

»
»
Quanarty

(a)Name the curve in diagram
(b)Write two relationships between the curves
23. What are the objective of government Budget

24.’Modern Macro Economics in the offshoot of the Great Depression of 1929”. Write any
three points to support the statement.
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Answer any 4 Questions from 26 to 30/. Each carries 4 scores {4x4=16}
25. 1f C=300+0.8Y, 1=400.Then find equilibrium level of income and investment multiplier .
26. Explain the factors determining demand for a commodity

27. Explain stock and flow concepts with examples

28. Explain circular flow of income in a two sector economy with the help of diagram

29. Explain price ceiling .Write two consequences of price ceiling.

30 .Explain Liquidity trap with diagram

Answer any two Questions from 31 to 33.Each carries 5 scores {2x5=10}

31. Explain the tax and non-tax revenue of the government
32. (a) What is meant by BOP
(b)Explain two main accounts of BOP

33. Analyse the features of Perfect Competition

Answer any two Questions from 34 to 36.Each carries 8 scores {8x2=16}

34. (a) Write the properties of indifference curve.
(b) Explain Consumer Equilibrium with the help of a diagram
35. Discuss Law of Varriable Propotions with a suitable diagram

36 .Explain Product and Income methods for calculating National Income.
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